TEST |
ENGLISH

Questions 25 Time 25 minutes

Directions (Qs 1-05)

Each of the following questions contains a capitalized pair of words followed by four pair of
words letter A to D. The capitalized words bear some meaningful relationship to each other.
Choose the pair, whose relationship is most similar to that expressed by the capitalized pair.

1. FEAR: COWER
A. CALMNESS: FRET C. DISSAPONTMENT: CONSOLE

B. ANGER: RANT D. EMBARRASSMENT: SPEAK

2. BACTERIA: DECOMPOSITION
A. LAVA: ERUPTION C. YEAST: FERMENTATION

B. PENICILLIN: INJECTION D. OXYGEN: RESPIRATION

3. PALATE: MOUTH
A. CURB: SIDEWALK C. STAR: SKY

B. CEILING: ROOM D. STREAM: DAM

4. MILL: GRAIN
A. LOOM: CLOTH C. BAZAAR: WARES

B. FORGE: METAL D. HOSPITAL: MEDICINE

5. SCRIBBLE: WRITE
A. LIMP: WALK C. MUMBLE: TALK

B. DRAW: PRINT D. FLOAT: SWIM



Directions (Qs 06-15)

Each of the sentences below has one blank. Each blank statement indicating something has been
omitted. Beneath the sentences are four options. Choose the word or set of words for each blank

that best fits the meanings of sentence as a whole.
Word Choice (with respect to Vocabulary)
6. The miser gazed ...... at the pile of gold coins in front of me.
A. Avidly B. Admiringly C. Thoughtfully
7. Catching the earlier train will give us the ...... to do some shopping.
A. Chance B. Luck C. Possibility
8. lsawa...... of cows in the field.
A. Group B. Herd C. Swarm
9. The grapes are now ...... enough to be picked.
A. Ready B. Mature C. Ripe
10. Ahmad and Khalid are twin brothers, but they do not look......
A. Unique B. Different C. Likely
Word Choice (with respect to Grammar)
11. Fate smiles ...... those who untiringly grapple with stark realities of life.
A. With B. Over C. On
12. Success in this examination depends ...... hard work alone.
A At B. Over C. For
13. My uncle decided to take ...... and my sister to the market.

A. B. Mine C. Me

14. Ali behaves strangely at times and, therefore, nobody gets ...... with him.

A. About B. Through C. Along

15. The ruling party will have to put its own house ...... order.

A. In B. On C.To

. Earnestly

. Occasion

. Flock

. Advanced

. Alike

. Round

. On

. Myself

.Up

. Into



Directions (Qs 16-20)

For each of the following question, choose the answer that is OPPOSITE in meanings to the

word in capital letter
16. ENORMOUS

A. SOFT B. AVERAGE
17. COMMISSIONED

A. STARTED B. CLOSED

18. ARTIFICIAL

A. RED B. NATURAL
19. MORTAL

A. DIVINE B. IMMORTAL
20. EXPAND

A. CONVERT B. CONDENSE

Directions (Qs 21-25)

C. TINY

C. FINISHED

C. TRUTHFUL

C. SPIRITUAL

C. CONGEST

D. WEAK

D. TERMINATED

D. SOLID

D. ETERNAL

D. CONCLUDE

After reading the passage, read and respond to the questions that follow by selecting the best

choice for each one.

At this stage of civilization, when many nations are brought in to close and vital contact for good
and evil, it is essential, as never before, that their gross ignorance of one another should be
diminished. They should begin to understand a little of one another's historical experience and
resulting mentality. It is the fault of the English to expect the people of other countries to react as
they do, to political and international situations. Our genuine goodwill and good intentions are
often brought to nothing, because we expect other people to be like us. This would be corrected
if we knew the history, not necessarily in detail but in broad outlines, of the social and political
conditions which have given to each nation its present character.

21. According to the author, “Mentality” of a nation is mainly product of its

A. History

B. International Position



22.

23.

24,

25.

C. Politics

D. Present Character

The need for a greater understanding between nations
A. Was always there

B. Is no longer there

C. Is more today than ever before

D. Will always be there

The character of a nation is the result of its

A. Mentality

B. Cultural heritage

C. Gross ignorance

D. Socio-political conditions

According to the author his countrymen should
A. Read the story of other nations

B. Have a better understanding of other nations

C. Not react to other actions

D. Have vital contacts with other nations
Englishmen like others to react to political situations like
A. Us

B. Themselves

C. Others

D. Each others



TEST II
QUANTITATIVE

Questions 25 Time 25 minutes

Directions (Qs 26 -50)

In this section there are 25 questions in total. The questions are based on arithmetic,
geometry, algebra and word problems. Each question is followed by four possible answers
indicated by letters A to D. Select the best answer out of the given choices.

26.

27.

28.

29.

30.

31.

In order to obtain an income of Rs. 650 from 10% stock at Rs. 96, one must make an

investment of;

The sum of ages of 5 children born at the intervals of 3 years each is 50 years. What is the

age of the youngest child?

Ad B.8 C.10 D.11

A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562 for 5 consecutive
months. How much sale must he have in the sixth month so that he gets an average sale of
Rs.6500?

A. Rs. 4991 B. Rs. 5991 C.Rs. 6001 D.6991

Main street high school has 10 members on its f team and 14 members on its science club. 5
students at the school belong to both the football team and the science club. How many

students belong to only the football team or the science club?

A5 B.9 C. 12 D. 14

If one-third of one-fourth of a number is 15, then three-tenth of that number is:

A35 B. 36 C. 45 D. 54

A and B invest in a business in the ratio 3: 2. If 5% of the total profit goes to charity and A's

share is Rs. 855, the total profit is:

A 1425 B. 1500 C. 15375 D. 1576



32.

33.

34.

35.

36.

37.

38.

39.

40.

How many of the following numbers are divisible by 132? 264, 396, 462, 792, 968, 2178,
5184, 6336

Al B.5 C.6 D.7

Each canvas bag will hold exactly 5 pounds of famous King's tomatoes. How many bags will
be necessary to hold 5 kilograms worth of these same tomatoes? (1 kilogram = 2.25 pounds.)

A5 B.3 C.7 D.2

A man has some hens and cows. If the number of heads be 48 and the number of feet equals

140, then the number of hens will be:

AD2 B. 23 C.24 D. 26

If a person walks at 14 km/hr instead of 10 km/hr, he would have walked 20 km more. The

actual distance travelled by him is:

A50 Km B. 56 Km C.70 Km D. 80 Km

Saba can type 10 pages in 5 minutes. Aneela can type 5 pages in 10 minutes. Working

together, how many pages can they type in 30 minutes?

A 15 B. 25 C.65 D. 75

The smallest even number of three digits is:

A98 B. 102 C. 998 D. 100

Arshia buys to off-cuts of ribbon in a sale. One is 153cm long. The other is 204cm long. She
cuts them so that she ends up with a number of pieces all the same length. What is the

greatest length each piece can be?

A.39 B.6 C. 17 D. 51

What fraction part of a week is 98 hours?

A 7/98 B. 7/12 C. 1/20 D. 1/7

A machine produces 1280 parts in 16 hours. How many parts would it make in a working

week of 44 hours?



41.

42.

43.

44,

45.

46.

47.

48.

49,

A 2530 B. 3520 C. 2122 D. 3960

Sara weights 25 pounds more than Amber. If together they weigh 205 pounds, what is the

weight of Sara?

A.90 B. 105 C. 115 D. 135

Ahmed purchased some shares of stocks at Rs.20 per share. Three months later the stock was

worth Rs.40 per share. What was the percentage increase in the value of Ahmed shares?

A50% B. 100% C. 200% D. 400%

A vendor bought toffees at 6 for a rupee. How many for a rupee must he sell to gain 20%?

A3 B.4 C.5 D.6

In 6 seconds a light flashes once. In one hour how many times it will flash?

A.451 times B. 601 times C. 553 times D. 702 times

Look at this series: 7, 10, 8, 11, 9, 12, ... What number should come next?

A7 B. 10 C.12 D.13

3 pumps, working 8 hours a day, can empty a tank in 2 days. How many hours a day must 4

pumps work to empty the tank in 1 day?

A9 B. 10 C.11 D.12

A batsman scored 110 runs which included 3 boundaries and 8 sixes. What percent of his

total score did he make by running between the wickets?

A 45% B.45.45% C.54.54% D.55%

In what ratio must a grocer mix two varieties of pulses costing Rs. 15 and Rs. 20 per kg

respectively so as to get a mixture worth Rs. 16.50 kg?

A 37 B.5:7 C.7:3 D.7:5

What is the greatest number of four digits which is divisible by 15, 25, 40 and 75?

A 9800 B. 9600 C.9400 D.9200



50. From a pack of 52 cards, two cards are drawn together at random. What is the probability of
both the cards being kings?

A.1/15 B.25/57 C.35/256 D.1/121



TEST Il
GENERAL KNOWLEDGE

Questions 10 Time 10 minutes

Directions (Qs 51-60)
In this section there are 10 questions in all. Each question is followed by four possible
answers indicated by letters A to D. Select the best answer out of the given choices.

51. Rabat is the capital of?

A. Morocco B. Iran C. Palestine D. Brunei
52. There are members of SAARC
A. 6 B. 8 C.9 D.7

53. The smallest ocean of the world is

A. Atlantic B. Pacific C. Arctic D. Southern
54. Who is the current Chief Minister of Baluchistan?

A. AftabSherpao B.AttaMaingalC. Dr Abdul Malik  D. HasilBazinjo

55. Deosai Plains are located in

A. KPK B. Sindh C. Kashmir D. GilgitBaltistan
56. Entomology is the science that studies

A. Rocks B. Human Behavior C. Insects D. Birds
57. In terms of population of world Pakistan comes at which number

A 6 B.4 C.5 D.38

58. The largest rice producing country in the world is

A. India B. Russia C. China D. Malaysia

59. The first ever artificial satellite is launched by?

A. USA B. Germany C. France D. Russia
60. Holy Prophet was born in

A.570 (AD) B. 576(AD) C.572 (AD) D.571(AD)



